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INTRODUCTION:

Electromagnetic theory is concerned with the study of charges at rest and in motion. Electromagnetic
principles are fundamental to the study of electrical engineering. Electromagnetic theory is also required
for the understanding, analysis and design of various electrical, electromechanical and electronic systems.

Electromagnetic theory can be thought of as generalization of circuit theory. Electromagnetic theory deals
directly with the electric and magnetic field vectors where as circuit theory deals with the voltages and
currents. Voltages and currents are integrated effects of electric and magnetic fields respectively.

Electromagnetic field problems involve three space variables along with the time variable and hence the
solution tends to become correspondingly complex. Vector analysis is the required mathematical tool with
which electromagnetic concepts can be conveniently expressed and best comprehended. Since use of
vector analysis in the study of electromagnetic field theory is prerequisite, first we will go through vector
algebra.

Applications of Electromagnetic theory:

This subject basically consist of static electric fields, static magnetic fields, time-varying fields & it’s
applications.

One of the most common applications of electrostatic fields is the deflection of a charged particle such as
an electron or proton in order to control it’s trajectory. The deflection is achieved by maintaining a
potential difference between a pair of parallel plates. This principle is used in CROs, ink-jet printer etc.
Electrostatic fields are also used for sorting of minerals for example in ore separation. Other applications
are in electrostatic generator and electrostatic voltmeter.

The most common applications of static magnetic fields are in dc machines. Other applications include
magnetic deflection, magnetic separator, cyclotron, hall effect sensors, magneto hydrodynamic generator
etc.

Vector Analysis:

The quantities that we deal in electromagnetic theory may be either scalar or vectors. Scalars are
guantities characterized by magnitude only. A quantity that has direction as well as magnitude is called a
vector. In electromagnetic theory both scalar and vector gquantities are function of time and position.
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A vector 4 can be written as, A=ad , where, | | is the magnitude and |"q| is the unit vector

which has unit magnitude and same direction as that of 4. _
Two vector A4 and & are added together to give another vector €. We have
E = H + § (1.1)

Let us see the animations in the next pages for the addition of two vectors, which has two rules:



1: Parallelogram law  and 2: Head & tail rule

Scaling of a vector is defined as C'=ab where T is scaled version of vector £ and @ is a scalar.
Some important laws of vector algebra are:

A+B=-F+4 Commutative Law ........ccooevvveiiiiciieenn (1.3
ﬁ+(§+§)=(ﬁ+§)+§ N

ASSOCIAtIVE LAW ..o 1.4)
a(d+5)=ad+al DiStributive LaW...........cvvveveerereereeeeereeenene. (1.5)

J— J—

The position vector "o ofa point P is the directed distance from the origin (O) to P, i.e., o = OF

— —_

If '0=0Pand "? = 0OQ are the position vectors of the points P and Q then the distance vector

_  —— —

PQ-0Q-0P-r,-r,

Fig 1.3: Distance Vector

Product of VVectors

When two vectors <l and £ are multiplied, the result is either a scalar or a vector depending how the
two vectors were multiplied. The two types of vector multiplication are:

Scalar product (or dot product) ' & gives a scalar.
Vector product (or cross product) 4% & gives a vector.

The dot product between two vectors is defined as 4' & = |A]|B|cosOns.................. (1.6)

Vector product Axg = |ﬂ”3|sm Eas'



# is unit vector perpendicular to < and &

B.A

Fig 1.4 : Vector dot product

- A(B+T)=AF+AT
The dot product is commutative i.e.,, ' & =E"A and distributive i.e., ( ) .
Associative law does not apply to scalar product

The vector or cross product of two vectors 4 and B is denoted by AxE . AxEisavector
perpendicular to the plane containing A and E, the magnitude is given by |"q||3|sm Eas
given by right hand rule.

and direction is

—

AxT =a, ABsin 8,,

............................................................................................ 1.7

where %* s the unit vector given by,

~ AxE

|ﬂ><3

The following relations hold for vector product.
Axf=-bxA i.e., cross product is non commutative.......... (1.8)
- X(B " C:' TARErAxC i.e., cross product is distributive..................... (1.9
AX(B " C) - (AX B)X © i.e., cross product is non associative ............ (1.10)
Scalar and vector triple product :
Scalar triple product A'(B " C) B B'(CXA) - (AXB :' ................................. (1.11)

Vector triple product......... 0. A A e Aot i et O (1.12)



Co-ordinate Systems:

In order to describe the spatial variations of the quantities, we require using appropriate co-ordinate
system. A point or vector can be represented in an orthogonal coordinate system. An orthogonal system is

one in which the co-ordinates are mutually perpendicular.

In electromagnetic theory many physical quantities are vectors, which are having different components.
So we use orthogonal co-ordinate systems for representing those quantities and depending on the

symmetry of the physical quantities different coordinate systems are used.

The electromagnetic (static) problem cases

_ The problems most often encountered
Coordinate Electrostatic Cases Magnetostatic Cases
Cartesian |- Any uniform charge distribution using a - The current flowing on the horizontal
scale of cartesian coordinates. infinite extent plane.
Cylindrical |- Uniform charge distribution cn cylindrical - The current flowing in circumference.
conducter.
- The current flowing in an infinite
- Uniform charge distribution cn the infinite straightline.
length of line.
- The current flows in the solenoid and
- Uniform charge distribution cn the infinite toroid.
extent horizontal plane.
- Uniform charge distribution cn the
herizontal circle plane.
- Uniform charge distribution cn the circle
line.
Spherical |- Uniform charge distribution on the surface |- Problem for the case of spiieies iess
of a sphere. found.
- Uniform charge distribution cf the paint.

x=pcosp
s psing.
2 Cartesian Cylindrical

Spherical




Cartesian Co-ordinate System :

A point P(x, y, z) in Cartesian co-ordinate system is represented as intersection of three

planes x = constant, y = constant and z = constant, as shown in the figure below. The unit vectors along
the three axes are as shown in the figure.

X = constant

R

z = constant

T-— B s Tt e——t]

/ Q /‘
¥ = constant #

X X

Coordinate system represented by (x,y,z) that are three orthogonal vectors in straight lines that intersect at

a single point (the origin). The range of variation along the three axes are shown below.
— o< x<®

—o<y<®

—co<Cz<w0

The vector A in this coordinate system can be written as, -1 = “Ldy +-4,a, +4a.

The differential lengths, area and volumes are as shown below.

+ Differential Displacement (dl) T
B dy
o A N ~ NP x’/“
dl =dxa_+dva, +dza, . /_’—i}/
' il
+ Differential Surface Area (dS) D€ T
dS = dydza_ .
dS =dxdza, Pl
dS =dxdya_ , &

dx - %
+ Volume Differential (dv) /Eluz 4:[ 4"« ,T g
& _ i

(j\? — d‘\‘[j),dz : (a) (5 (c)




Cylindrical Co-ordinate System :
For cylindrical coordinate systems we have (e, v, w) = (r.8.2) 35 shown in figure below.

p = constant
\/ ’————\ 7

‘\ z
p P ay
! z = constant

0% i p| |sR

e o . y
e ]
4 J

: / 7<
@ = constant \‘/
x

i

Figure: Cylindrical Coordinate Sysfem
Cylindrical Coordinate system represented by (0 ,0 ,z) that are three orthogonal vectors, varies in the
range,

0<p<w

0L <27

— <L Z<WO

The vector A in this coordinate system can be written as,
A=4,a,+A4,a,+ Aa,

The following equations can be used to convert between cylindrical and Cartesian coordinate systems,

p=+x"+

X = pcos¢
¢ =tan™ hd y=psing
-
z=2z E=E

The differential elements in cylindrical coordinate system are shown below.
=

+ Differential Displacement (dl)

dl =dpa,,+ pdda, +dza,

Differential Surface Area (dS)
ds = pdgdza,

dS = dpdza, "
d5 = pdpdda, . “
pdd ag a,
+  Volume Differential (dv) % g
y dp " dd
v = pdpdpdz . " .




Spherical co-ordinate system:

Coordinate system represented by (r,0 ,0 ) that are three orthogonal vectors (as shown in the figure
below) emanating from or revolving around the origin in the range,
0Zr<w

0<p<x

0<0<2x

P ¥ = constant

: L L]
«‘_‘mxlnl\/ : \
/ )
e
WE

X\ / ™ B = constant
S

) convert
I [

The vector A in this coordiﬁate system can be written as,
A=Aa, +A,a,+Aa,

The following equations can be used to convert between spherical and Cartesian coordinate systems.

(2. 2 3
=gty .
RS x=rsinfcosg

>

0=tan Y y=rsmésing

o z=7rcoséd
¢ —tan -
X



The differential elements in spherical coordinate system are shown below.

Differential Displacement (d!)

dl = dra +rd@a, + rsin Qddi

9
» Differential Surface Area (dS)
ds =1 sin @dOd pa, 2
ds = sin @drd da,
ds = rdrdé&a, § @
g rsin @) dds rein 9 dp 1
/\ d. //\‘7 -
+  Volume Differential (dv) h >3( ay: &
- rdo’\ \} i ras\
dv=r-smbdrdbde & Jﬁ - i
>y
Co-ordinate transformation:
Matrix Transformations: Cartesian to Cylindrical
4, cos¢p smg O] A4,
A, |=|—sing cos¢g O] 4,
A. 0 0 1| A
= = — — == = ®P(x,y,z)=P(p, 9, z)
A, cosg —sing O 4, ‘
A\‘ = Sin ¢ COS ¢ O A¢ Z 4’/{‘ % ’//’//:' = pcos ¢
‘ Ty Sosne
A, 0 0 1|4 |-
Matrix Transformations: Cartesian to Spherical
_.4,. 1 |sin Beosd sinfsing cosl || 4, p=rsin 6
4| |cosOcos¢ cosOsmg —smn0 | 4, \&' i il il
4, —sin ¢ cos ¢ 0 | 4 v
b - z=rcos @
B o oEm g _ » 4 B ’ z
4, smécosg cosBeosp —sma | A,
4, |=[smOsm¢g costsmg cosg | 4, = & P =poosd
4] | cos6  -sme 0 |4, v




Del operator:
Del is a vector differential operator. The del operator will be used in for differential operations throughout
any course on field theory. The following equation is the del operator for different coordinate systems.

- ~ ~
(9, o C o~ O o
v . - af\' + ~ C’1 + o 67.' o V.‘\'.l'_'
ox cy - 0z |
o0 . 1 0 . 0 .
V= &, iy,
op Yool oz
g 5 18 , 1 0 .
Wl by — d,
or oLy rsin@ og¢

Gradient of a Scalar:

» The gradient of a scalar field, V, is a vector that represents both the magnitude and the direction of the
maximum space rate of increase of V.

ov. oV . oV .
— . —d,+ &=V, .
ox ~ oy 0Oz T
» To help visualize this concept, take for example a topographical map. Lines on the map represent equal
magnitudes of the scalar field. The gradient vector crosses map at the location where the lines packed into
the most dense space and perpendicular (or normal) to them. The orientation (up or down) of the gradient
vector is such that the field is increased in magnitude along that direction.

VIV =

-Fundamental properties of the gradient of a scalar field
— The magnitude of gradient equals the maximum rate of change in V per unit distance

— Gradient points in the direction of the maximum rate of change in V
— Gradient at any point is perpendicular to the constant V surface that passes through that point
— The projection of the gradient in the direction of the unit vector a, is

VIV -a
and is called the directional derivative of V along a. This is the rate of change of V in the
direction of a.
— If A'is the gradient of V, then V is said to be the scalar potential of A.

Divergence of a Vector:
» The divergence of a vector, A, at any given point P is the outward flux per unit volume as volume
shrinks about P.
" - f A-dS
divd=V-4=1lm =——
Av—0 Ay

Divergence Theorem:
* The divergence theorem states that the total outward flux of a vector field, A, through the closed surface,
S, is the same as the volume integral of the divergence of A.

* This theorem is easily shown from the equation for the divergence of a vector field.



A= 44, + 4,0, + 44,
~ b 4.d5
A= lm =

Av

Av >0

I‘V - Adv = f A-ds

divd =V .

Curl of a Vector:

* The curl of a vector, A is an axial vector whose magnitude is the maximum circulation of A per unit
area as the area tends to zero and whose direction is the normal direction of the area when the area is
oriented to make the circulation maximum.

-Curl of a vector in each of the three primary coordinate systems are,

a, a, a,
: - le & o 04 04, |. [64 o4 1. |04, 84 |.
Cartesian Wised = g 8l 19 5 (1‘_—0—4:—04't a,+H— 04y a.
ox oy oz ov oz ox 6 | 7| o v |
4, 4, 4
(}P p(}é (}:
o - 16 o | [1o4 04]. [og o4,]. 1[ole4,) 84,].
Cylifidrical Yxd=—|— — ==l Qs+ a
plop 0¢ 0oz| |po¢ oz op o)’ pl o 6¢
4, pd; 4,
a, ra, rsméa,
gi-_t |8 ¢ 8
Spherical © smllor 80 o4
4, rdy rsmé4;
> 4,sm@ 04 o\rd A4 . o\rd,) o4 |.
grie_L [lusing) o4]. 17olea) 1 a4 1felek) o),
rsmé 00 6¢ r| Or smé@ 0¢ r| or 06 | °
Stokes Theorem:

» Stokes theorem states that the circulation of a vector field A, around a closed path, L is equal to the
surface integral of the curl of A over the open surface S bounded by L. This theorem has been proven to
hold as long as A and the curl of A are continuous along the closed surface S of a closed path L

* This theorem is easily shown from the equation for the curl of a vector field.
A= 4a,+4,a,+ 443513

curld=Vx 4=

f4 -dl
AS

Im & ——
AS—0

\ max

fA-di - js(v x A)-dS



Classification of vector field:

The vector field, A, is said to be divergenceless ( or solenoidal) if V - A4=0,
— Such fields have no source or sink of flux, thus all the vector field lines entering an enclosed surface, S,
must also leave it.

— Examples include magnetic fields, conduction current density under steady state, and imcompressible
fluids

— The following equations are commonly utilized to solve divergenceless field problems

V-4=0
§A.a5=[(v-A)w=0
F=VxA4

« The vector field, A, is said to be potential (or irrotational) if ¥ x A =0
— Such fields are said to be conservative. Examples include gravity, and electrostatic fields.

— The following equations are commonly used to solve potential field problems;
V V=0 fA-d/:if(VxA)-dSzo
b &
VxA=0 A=-VV

Solved Examples:

Ent

1. Giventhat 1= art2ay+das
B=-2avtay
a.  Determine the angle between the vectors A and B .
b. Find the unit vector which is perpendicular to both A and B .
Solution:
a. We know that for two given vector A and B,

A.B=|4

Floos 8

Lo

For the two vectors A and B




r

— — -1 13
N Seese=1 77 )

b. We know that is perpendicular to both A and B.

_Zax—(1+6)as+da
The unit vector 2 perpendicular to both A and B is given by,

o " . o -~ .

IJ._E _ :Lfﬁf\_'l'l.;}l‘l“"lﬂz _ :L-!ﬁf_.’fu.{!j‘k‘iljz
Y B - ] 2
!*”‘1-"B| 1fz‘+\_—u +4°

n
M=

2. Giventhe vectors < =@r*2ay+ dasz
¥ =5ﬂ_lp_ﬂ§.+3ax

Find :
a. The vector C=A+ B ata point P (0, 2,-3).

b. The component of A along B at P.

Solution:

The vector B is cylindrical coordinates. This vector in Cartesian coordinate can be written as:
.H = Bx ﬂx'l' B}' iy +Bxﬂz

fay Eal Fal s

o fay Fal
Where B =B ay=5a, arag.artiaz ax

=Scosd+an g

B, =B.ay =5sin - cos ¢



B = B.a:

T

The point P(0,2,-3) is in the y-z plane for which 2
B = ap+ 5ay+3as

a. C=A+B

[$x+ 22;&5%] +[Sx+5§y+323]

oy ey oy
_2ax+lay+ia:

|ﬂ|cos$‘ a

b. Component of A along B is where is the angle between A is and B.

AB 1+10+15 _ 26

ie. B x50 ¥

3. A vector field is given by

A= prosda.+ ozsin das
Transform this vector into rectangular co-ordinates and calculate its magnitude at P(1,0,1).
Solution:
Given, A= prosda,.+ ozsindas

The components of the vector in Cartesian coordinates can be computed as follows:

A =Aa



= pcos Poosd = pcosg-;é=1ll'x2 +y2.

2
X
2 2
¥ty

bed

= pros gain = ,[x° +y* x Y

_\(rxz_l_yz'_\sz_l_yz

&

2 2
rty

xz o s s
A= &yt i

_‘ng +y2 _\jf_,_yﬂ dyt VT s

1 Ge+0+0

Aoy = N

Ll
= dx

X |A||(1_n,1;. =1

6. A given vector function is defined by F =yaxtxay Eyaluate the scalar line integral from a point

P1(1, 1, -1) to P2(2, 4, -1).

— 2
a. along the parabola ¥ = *
b. along the line joining the two points.

Is F a conservative field?

Solution:

o fay
F=yar+xay



dl = dx ax+ dy ay
SO F Al = vdx + xady
_ 2
a. For evaluating the line integral along the parabola -+ ~ * , we find that
dy=2xdx
2
.'.fﬁ.d; - [ #dx 2t
&
et _T.210 2
_.I‘l 3x .::t’x—[x ]1 z

b. Inthis case we observe that z1 = z2 = -1, hence the line joining the points P1 and P2 lies inthez = -1
plane and can be represented by the equation

Ju
—

~1=2"(x-1
y-l=o (a1
Or,y=3x-2
Cdy=3dx

F.dl=(3x-2)dx+x.3dx

= (6x -2)d x
A 2
. 'IP. F.d£=J‘1 [6x—2)dx
1 ]
ﬁi_gx]
= 2 1
=[12—4—3+ 2]
=7

The field F is a conservative field.

]_ n
D=—ar [,Das . cpe
7. If r calculate Js over a hemispherical surface bounded by r=2 & 0=&=xi2



Solution:

In spherical polar coordinates
dS = r* sin 8dd g s

" [ DS = Ij Iﬂ"ﬂ 2 sin 8484

=4J‘T‘|jzsin5'd5

=4
QUESTIONS:

(Preliminary Questions)

1.A small sphere of radius r and charge q is enclosed by a spherical shell of radius R and charge Q. Show that
if g is positive, charhe q will necessarily flow from the sphere to the shell (when the two are connected by a
wire) no matter what the charge Q on the shell is.(NCERT PHYSICS).

2. There are three concentric and conducting spheres of radius R, 2R and 4R respectively. Innermost sphere A
and the outermost sphere C are coonected by a conducting wires while the intermediate sphere is uniformly
charged to +Q. Find (a) charges on conductors A and C (b) potential of A and B. (c)If the spheres A and C
are earthed.

3. If the vector field T=(Axy+BZ®) ax+(3x*-Cz)ay +(3xz%-y)a, is irrotational,
determine A,B and C.

4. Express the divergence of a vector in rectangular, cylindrical and spherical coordinate system.

5.An electric field intensity is given as

g - (100cosl) _  (50Sin] )aD : Calculate the |E| and a unit vector in Cartesian coordinate in the
3

r ' r

direction of E at a point (r=2, 1 = 60°, 1 =20°)



Field:

A field is a function that specifies a particular physical quantity everywhere in a region. Depending upon the
nature of the quantity under consideration, the field may be a vector or a scalar field. Example of scalar field is
the electrostatic potential in a region while electric or magnetic fields at any point is the example of vector
field.

Static Electric Fields:

Electrostatics can be defined as the study of electric charges at rest. Electric fields have their sources in electric
charges. The fundamental & experimentally proved laws of electrostatics are Coulomb’s law & Gauss’s
theorem.

Coulomb’s law & Electric field Intensity

Statement: The force between two point charges separated in vacuum or free space by a distance which is large
compared to their size is directly proportional to the product of their charges and inversely proportional to the
square of the distance between them. It acts along the line joining the two charges.

Mathematically,

B = kQIQE
R 2
In SI units, Q1 and Q; are expressed in Coulombs(C) and R is in meters.
= 1
Force F is in Newtons (N) and 4718, , S0 s called the permittivity of free space & it’s magnitude is

1
1 =8854x10%= ——10'°F/m.
360

0

(We are assuming the charges are in free space. If the charges are any other dielectric medium, we

will use £~ %% instead where * is called the relative permittivity or the dielectric constant of the medium).
1 A0,

]
Therefore......... A R (2.1)

— —

As shown in the Figure 2.1 let the position vectors of the point charges Q.and Q- are given by 1 and "

. Let A represent the force on Q: due to charge Q..

Fig 2.1: Coulomb's Law

A=ln—-nl=ln-n

The charges are separated by a distance of | We define the unit vectors as



Eiﬂ - Tl = 5
7 dmE, R dme, R
12 can be defined as ’ " ’"1'3

. 00 ~_ 60 h-n)

—_—

Similarly, the force on Q: due to charge Q. can be calculated and if 2 represents this force then we can
write 1= "

Suppose a charge g is placed in the vicinity of three other charges, g1, gz, and gs, as is shown in Figure 2.2.
Coulomb's law can be used to calculate the electric force between g and g1, between g and gz, and between g
and gs. Experiments have shown that the total force exerted by g1, g2 and gz on q is the vector sum of the
individual forces, as shown in the equation below;

F3




Electric Field
The electric field intensity or the electric field strength at a point is defined as the force per unit charge. That is

The electric field intensity E at a point r (observation point) due a point charge Q located at +' (source point)
is given by:

5o 2000
Y e R 2.3)
For a collection of N point charges Q1,Q2,......... Qn located at 1, "2 ... ¥ the electric field intensity
at point »' is obtained as
_ 1 iQ (r r]
drsy 43 | ’3
........................................ (2.4)

The expression (2.4) can be modified suitably to compute the electric filed due to a continuous distribution of
charges.

For an elementary charge dQ = plrdy’ , I.e. considering this charge as point charge, we can write the field
expression as:

ra dQr-ry _ el ydv'ir—r)

47, |:?"—;r"'|3 4re, |r—r'r

When this expression is integrated over the source region, we get the electric field at the point P due to this
distribution of charges. Thus the expression for the electric field at P can be written as:

(?"J'&“ f"'J
E(} 1[4;?1'&]:,:" r’z

Similar technique can be adopted when the charge distribution is in the form of a line charge density or a
surface charge density.

0 - Ipz(r )T

4;??}5‘,:,3* r’z

7 - l[,ascr:wcr—r:l?
4;?1E‘Dr r



Electric flux density:

As stated earlier electric field intensity or simply ‘Electric field' gives the strength of the field at a particular
point. The electric field depends on the material media in which the field is being considered. The flux density
vector is defined to be independent of the material media (as we'll see that it relates to the charge that is
producing it).For a linear isotropic medium under consideration; the flux density vector is defined

as:

We define the electric flux Y as

Gauss's Law: Gauss's law is one of the fundamental laws of electromagnetism and it states that the total
electric flux through a closed surface is equal to the total charge enclosed by the surface.

Fig 2.3: Gauss's Law

Application of Gauss's Law

Gauss's law is particularly useful in computing £ or £' where the charge distribution has some symmetry.
We shall illustrate the application of Gauss's Law with some examples.

1.Aninfinite line charge

Let’s consider the problem of determination of the electric field produced by an infinite line charge of
density r.C/m. Let us consider a line charge positioned along the z-axis as shown in Fig. 2.4(a)



Since the line charge is assumed to be infinitely long, the electric field will be of the form as shown in
Fig. 2.4(b).
If we consider a close cylindrical surface as shown in Fig. 2.4(a), using Gauss's theorem we can write,
od=0= (f g Eds= JE,JE..:J?S +J:E,JE..:1?5+J‘€DE.¢1‘3
S s (2.12)

Considering the fact that the unit normal vector to areas S: and S are perpendicular to the electric field, the
surface integrals for the top and bottom surfaces evaluates to zero.

Y
J

Lx1)

o

(b)

Fig 2.4: Infinite Line Charge

Hence we can write, €2 = & 275

2. Infinite Sheet of Charge

As a second example of application of Gauss's theorem, we consider an infinite charged sheet covering the x-



z plane as shown in figure 2.5.

Assuming a surface charge density of “= for the infinite surface charge, if we consider a cylindrical
volume having sides £5 placed symmetrically as shown in figure 2.5, we can write:

§D:ds = 2Dhs = 0 Ls

=

F=_15 3

Fig 2.5: Infinite Sheet of Charge

It may be noted that the electric field strength is independent of distance. This is true for the infinite plane of
charge; electric lines of force on either side of the charge will be perpendicular to the sheet and extend to
infinity as parallel lines. As number of lines of force per unit area gives the strength of the field, the field

becomes independent of distance. For a finite charge sheet, the field will be a function of distance.

Electrostatic Potential and Equipotential Surfaces

Electrostatic potential is related to the work done in carrying a charge from one point to the other in the

presence of an electric field. Let us suppose that we wish to move a positive test charge 24 from a point P to
another point Q as shown in the Fig.2.8.



Fio

0
Fig 2.8: Movement of Test Charge in Electric Field

The work done by this external agent in moving the charge by a distance ¢ is given by:

AW = -tqEd] 2.14)

It may be noted that in moving a charge from the initial point to the final point if the potential difference is
positive, there is a gain in potential energy in the movement, external agent performs the work against the

field. If the sign of the potential difference is negative, work is done by the field.

We will see that the electrostatic system is conservative in that no net energy is exchanged if the test charge is
moved about a closed path, i.e. returning to its initial position. Further, the potential difference between two
points in an electrostatic field is a point function; it is independent of the path taken. The potential difference is

measured in Joules/Coulomb which is referred to as Volts.

Considering the movement of a unit positive test charge from an arbitrary point B to another arbitrary point A ,



we can write an expression for the potential difference as:

So, the potential difference is independent of the path taken as it only depends on the initial & final points. It is
customary to choose the potential to be zero at infinity. Thus potential at any point ( ra = r) due to a point
charge Q can be written as the amount of work done in bringing a unit positive charge from infinity to that
point (i.e. rs = 0).

1
ro_ L &
R (2.18)
Or, in other words,
V= —_[E_f;ﬂ

P

Fig 2.9: Electrostatic Potential due a Displaced Charge

The potential at a point P becomes

1
M= iﬁ
47, |r -r'
.................................. (2.20)
Let us first consider N point charges Q1, Qa,.....Qn located at points with position vectors 172 . The

potential at a point having position vector #can be written as:



r - | @ &, Gr
4e, |r—r1 lr—r2 |r—rN (2.212)
- 1 1y Qﬁ
Vi) = pr— Z—*_—*
or, e O (2.21b)

For continuous charge distribution, we replace point charges Qn by corresponding charge elements £yl

or Psds or Brdv depending on whether the charge distribution is linear, surface or a volume charge
distribution and the summation is replaced by an integral. With these modifications we can write:

e = Jp;(racﬂ'

47,
For linecharge, ~  ° "1 (2.22)
v = — (s
4, |r —F,
For surface charge, ...t b (2.23)

For volume charge, ......ccccovvvevvveene e (2.24)

It may be noted here that the primed coordinates represent the source coordinates and the unprimed
coordinates represent field point.

Since the potential difference is independent of the paths taken, Vas = - Vsa, and over a closed path,

Vas * Vs TEdE: O (2.25)
Applying Stokes's theorem, we can write
cjf.'E’ di =I(v><'5’) ds =0
TR (2.26)
from which it follows that for electrostatic field
VXE=0 (2.27)

Any vector field A that satisfies ¥ %4 = Ujs called an irrotational field.



From our definition of potential, we can write

ar = 4 +ﬁd - Fai
dx e ax

alpr.:;t ﬁa}, +Ea’ (dx&x +dya, +.:£z&z:] = -Edi
i dy iz

TV di=-Edl (2.28)

from which we obtain,

Electric Dipole

An electric dipole consists of two point
charges of equal magnitude but of
opposite sign and separated by a small g
distance.

As shown in figure 2.10, the dipole is /
formed by the two point charges Q s

and -Q separated by a distance d, the
charges being placed symmetrically °, =
about the origin. Let us consider a

point P at a distance r, where we are

interested to find the field.

Fig 2.10 : Electric Dipole



The potential at P due to the dipole can be written as:

so 1 [e o] e [an
47, |n A 4z, | A

.......................... (2.30)
d
poon=2¥—cos@=dcosd PR -
When r and r2>>d, we can write 2 and 1 T 2 T
Therefore,
= Lo cc;s g
L Cz (2.31)
We can write,
Od cos8 =0da,_a, (2.32)
The quantity © =% is called the dipole moment of the electric dipole
Hence the expression for the electric potential can now be written as:
- F a:,ﬂ
AT e (2.33)

It may be noted that while potential of an isolated charge varies with distance as 1/r that of an electric dipole
varies as 1/r? with distance.

If the dipole is not centered at the origin, but the dipole center lies at 7', the expression for the potential can be

written as:
B
- (r+ .?"_EI
47, |r -7 'r

The electric field for the dipole centered at the origin can be computed as

E=-VlV=-|—d& +——id,
ar Fog

=Qdcos.5'& +Q.:I’sir15',\

]

= g IBVA]
+

DrEet | dmmr

- (2cos8d, +s5in 84, )

415,

—

_E'.-=

3 3[2cosﬂﬁr+sin5'&ﬂ)
TE

£=0d is the magnitude of the dipole moment. Once again we note that the electric field of electric dipole
varies as 1/r® where as that of a point charge varies as 1/r%



Work Done by the Electrostatic Field

« It is often useful to characterize any system that can impose forces on an object by the work it does to
that object

* Suppose a charge g1 is located near another charge, g. The force acting on g causes work to be done by
displacing g a distance dl.

AW =—F.dl =—gE-dl

* The negative sign indicates that the work done by an external agent, g1. Thus the total work done, or
potential energy required) to move g a distance dl from a to b is:

=)~V (a)g

a*—.c-

Work and Energy in Electrostatic Fields

» To determine the energy present in an assembly of charges, we must first determine the amount of work
necessary to assemble them.

* Suppose we position 3 charges, g1, g2, and g3 in an initially empty space. Initially there is no work done
to transfer charge g1 from infinity to our work space, because the space is initially charge free with no
electric field in the region.

» However, there is a field present from g1 when we move g2 into position. The work done by
transferring g2 into our workspace is the product of g2 times the potential difference between g1 and g2.

* The same is true as we position charge,q3, with respect to charges g1 and g2
W =W, +W, + W,
W =0+4s -+ + V)
If the charges were positioned in reverse order then:
W = W+ W, + W,
W =0+q,Vy;+q;(V, +733)

» Thus by adding all of the work possibly performed we obtain
2W =0+q,V,s +q,(V, +V3) +0+ gV, +q, Vs, +73,)
=q V) + .V, + 4,
i l n .
= 5 247
&~ k=1

Therefore one can write that the energy, W, present in an electrostatic field fue to different charge
distributions is:



> ]- 7 7 1 T Y 7 l 7
=g l o, Vdl W== ! o VdS W= 5 ! o, Vv

2
And since we can show by Gauss’ Law that: @, =V- D, S0,
— -
= l o, Vdl
= [v-Dyviv
r =51 ¢

W - é j (V- 7D)—(D-VI))dv

1
w=L [ -L (B9 =L [ (5w

first integral > 0 as S becomes large

e 1 ,
Energy WZE;((D'E)KIVZE;[Q’EWV

Energy DenSity dW qw=

QUESTIONS:

1.An electric field intensity is given as

g - (100cosl) _ (50Sin] )aD © Calculate the [E| and a unit vector in Cartesian coordinate in the
ré ' ré

direction of E at a point (r=2, 1 = 60° , 1 =20°)

2.Derive the expression for electric field due to two equal point charges of opposite sign(Electric dipole).
3.Give the basic Concepts of transformation of one coordinate system to another
4.Explain the Physical significance of term :

(i) Divergence of a vector

(i)Curl of a vector field

5.A Circular disk of radius R is charged to a uniform surface density ;. Show that the electric field on
the axis of the disk a distance x from the center is given by



e - 017 x(R? +x%)¥2]
" 21,

6.Considering a parallel plate capacitor, explain the concept of energy density.

7.In inkjet printer, quiet, fast printing on paper is accomplished by deflecting inkdroplets by electrostatic
field. The arrangement is similar to that for a CRT except that a nozzle replaces the electron gun with
droplets produced in a continuous stream. Charges are then sprayed onto the ejected droplets so that they
can be electrostatically deflected as in a CRT. The nozzle of an ink-jet printer ejects droplets at 30m/s
For a 4-mm deflection on the sheet being printed, find the deflecting field required if the deflecting field
extent in the direction of the droplet’s travel is 18mm. The sheet is 25mm from the leaving edge of the
deflecting field. Assume an inkdrop mass of 40ng and charge of 250nC

SUMMARY:

Summary Diagram of Electrostatics

Charge Density
A

L 4 ’ \ '/"

“Electric Field Potential /' =—[£-d/ . VxE=0  Electric Field &




MODULE-II
Currents & Conductors:
Convection and Conduction Currents:
« Current (in amperes) through a given area is the electric charge passing through the area per unit time,
Current Fr= ‘—’Q
dr
« Current density is the amount of current flowing through a surface, A/m2, or the current through a unit
normal area at that point

Current density J— Al where [ = Ij-eig
AS ¢
« Depending on how the current is produced, there are different types of current density
— Convection current density

— Conduction current density

Convection Current Density
« Convection current density
— Does not involve conductors and does not obey Ohm’s law

— Occurs when current flows through an insulating medium such as liquid, gas, or vacuum

AQ LAY ;
AT="2 = ASY = ASH.
At At
Where u is the velocity vector of the fluid.
AS ”y 2
/; / \l % J1 s —— ‘Pm {1
] i i AAS‘
) g J =gy
= y =
// /’ // 4 Y
< > ‘./
Ay

Conduction Current Density
«Conduction current density
—Current in a conductor

—Obeys Ohm’s law
«Consider a large number of free electrons traveling in a metal with mass (m), velocity (u), and scattering
time (time between electron collisions), [ .

- mu

F =—qFE =
”
*The carrier density is determined by the number of electrons, n, with charge, e
@, = ne
«Conduction current density can then be calculate as
- _ ne’r = =
J =@ = E—=oF

*Where  is the conductivity of the conductor



*This relationship between current concentration and electric field is known as Ohm’s Law.

Electrical resistivity:
« Consider a conductor whose ends are maintained at a potential difference ( i.e. the electric field within
the conductor is nonzero and a field is passed through the material.)

* Note that there is no static equilibrium in this system. The conductor is being fed energy by the
application of the electric field (bias potential)

* As electrons move within the material to set up induction fields, they scatter and are therefore damped.
This damping is quantified as the resistance, R, of the material.

* For this example assume:
—a uniform cross sectional area S, and length 1.

— The direction of the electric field, E, produced is the same as the direction of flow of positive charges
(or the same as the current, I).

I [E-dl . |
BRI P |
J‘O— I
s +V
So, we can write,
V
E=—
/
V'
J=£:O'E:G—
S /
-V _1 _»pAd
I oS S

Continuity Equation
» Remembering that all charge is conserved, the time rate of decrease of charge within a given volume
must be equal to the net outward flow through the surface of the volume.

« Thus, the current out of a closed surface is,

Ot ) 3
I:§J'd‘9:_wzj—%ﬁdw'
S dt ot

v

Applying Stokes Theorem, )
§7-d5=[V -Jdv=—-]Tray
S v v ot

v.j=-t

or
The above equation is continuity equation.



QUESTIONS:
1.Show that Lorentz condition in the following equation is merely a restatement of continuity equation.

dv

dt

1.A=-1[

2.A long copper wire of radius R runs through a deep lake at a height h above the plane bottom.
Assuming the bottom to be a good conductor, show that the resistance per unit length between it and the
wire is

Coh*(h/R)

where B1= Conductivity of the lake water.
2000

3.State the Continuity equation for steady currents

Polarization in Dielectrics
 The main difference between a conductor and a dielectric is the availability of free electrons in the
outermost atomic shells to conduct current

» Carriers in a dielectric are bound by finite forces and as such, electric displacement occurs when
external forces are applied

« Such displacements are produced when an applied electric field, E, creates dipoles within the media that
polarize it

» Polarized media are evaluated by summing the original charge distribution and the dipole moment
induced

» One may also define the polarization, P, of the material as the dipole moment per unit volume

14 n

qu(ik ZZ)I\-

P=lim * = [im 2
Av—0 Ay Av=0 Ay
« Potential due to a dipole moment
- }3-(7,.\ _ P '(F—F")
4rme R Ame, [F-rF|
= [(p‘ﬁr)(l"
d 47?501?2
Where,
R =[f-7 =x-2) P+ (-3 +(-2)

4 [(x_;\-')E+(.‘._.‘,.)3+(:_:.):}»2 R* R

V'( 1 ) (x—x')a, +(y-y')a, +(z-2)a, R a



Now,

Where the B * operator is with respect to (x’,y’,z’).
P-:”:13V'( IJ:V'- P) (V.P
R R R R

So, we can define two charge densities,

@, =P-a
Opy==V-P

When polarization occurs, an equivalent volume charge density, [ is formed throughout the dielectric,

v

while an equivalent surface charge density, [ is formed over the surface.

ps?

« For nonpolar dielectrics with no added free charge
Qromi n {C/JPS(IS + f gf)p‘.dv =0
S .

« For cases in which the dielectric contains free charge density, [,

‘J’Df = ‘Jpv +¢pv = v .SGE
Hence,

Q)\’ :V.SOE—Q)})\'
:V-sOEJrV-P
=V-(g,E+P)=V-D

« In many substances, experimental evidence shows that the polarization is proportional to the electric

field, provided that E is not too strong. These substances are said to have a linear, isotropic dielectric
constant.

* This proportionality constant is called the electric susceptibility, [ .. The convention is to extract the
permittivity of free space from the electric susceptibility to make the units dimensionless. Thus we have

ek
We know,
D=¢E+P=¢ 1+ )E
D=ccE



Thus, the dielectric constant (or relative permittivity) of the material, [ |, is the ratio of the permittivity to
that of free space.

« If the electric field is too strong, then it begins to strip electrons completely from molecules leading to
short term conduction of electrons within the media. This is called dielectric breakdown.

» The maximum strength of the electric field that a dielectric can tolerate prior to which breakdown occurs
is called the dielectric strength.

« In linear dielectrics, the permittivity, 0 , does not change with applied field, E.
» Homogenous dielectrics do not change their permittivity from point to point within the material.
« Isotropic dielectrics do not change their dielectric constant with respect to direction within the material.

» Two types of dielectrics exist in nature: polar and nonpolar
— Nonpolar dielectrics do not posses dipole moments until a strong electric field is applied

— Polar dielectrics such as water, posses permanent dipole moments that further align (if possible) in the
presence of an external field

Electric field in material medium:

We have considered charge distributions only in free space & found it’s effect in terms of electric field
intensity, electric flux density & electrostatic potential. Now we’ll consider effect of charge distributions
in material medium.

In general, based on the electric properties, materials can be classified into three categories: conductors,
semiconductors and insulators (dielectrics). In conductor , electrons in the outermost shells of the atoms
are very loosely held and they migrate easily from one atom to the other. Most metals belong to this
group. The electrons in the atoms of insulators or dielectrics remain confined to their orbits and under
normal circumstances they are not liberated under the influence of an externally applied field. The
electrical properties of semiconductors fall between those of conductors and insulators since
semiconductors have very few numbers of free charges. The parameter conductivity is used characterizes
the macroscopic electrical property of a material medium.

Conductors

If some free charge is introduced inside a conductor, the charges will experience a force due to mutual
repulsion and owing to the fact that they are free to move, the charges will appear on the surface. The
charges will redistribute themselves in such a manner that the field within the conductor is zero.

0

Therefore, under steady condition, inside a conductor P = , and using Gauss’s theorem

Weknow £ =% soa conductor behaves as an equipotential surface.



Boundary conditions:

Boundary conditions govern the behavior of electric fields at the boundary (interface) between two
different media. The interface may be between two dielectrics or between a conductor & free space or
between a conductor & dielectric. The last two cases will be special cases for first case.To complete this
analysis we will use Gauss’s theorem & conservative nature of electrostatic fields.

V-D=g, VxE=0

» We will also need to break the electric field intensity into two orthogonal components (tangential and
normal),

E=E +F
Dielectric-Dielectric Boundary
« Two different dielectrics characterized by [1 and [ ;.

Applying,

So,

j'f-d—:o

=E Aw—E, A]I_E ﬂ_EQrAW-i-EgnA—]"*‘El Al

2n ” 5 n ”



L Aw— L, Aw — (L, — 17, )Aw

Ah—0
El' :El'
Do v Dy
_“_LV _L’r =
&y €

Thus, tangential E undergoes no change and is continuous across the boundary condition Tangential D on
the other hand is discontinuous across the interface.

« Two different dielectrics characterized by [1 and [ 7.

" @

Applying,

~-@nc

So,

AOQ=p AS =D, AS—-D
¢, =D, —D,,

o, —>0

i =

1n 2n
Elngl = Dln . D?_n B E.Zrig2

Thus, normal D undergoes no change and is continuous across the boundary condition Normal E on the
other hand is discontinuous across the interface.
So, we have,

2n

Eu = E:,

D, =D,
Conductor-Dielectric Boundary
« Perfect conductor with infinite conductivity (therefore no volume charge density, potential or electric
field inside the conductor) and a dielectric, [ 2 .



Apply § E-dl =0 Apply §D-dS=0,,
S

Ah Ah Ah Ah
i 0A1“_ Eln T _Eln T _EIA1“+ Eln T + Eln ? AQ - @SAS = D’]AS = OALS‘
D; 4 2 Bt Ol
Ah—0.E,=0="=" Ps == Eoly
E5 ‘ .
I )ic]c_clric Dielectric
E (8 = &,6,)

Conductor (E = 0) E = O Conductor (E = 0)

Law of Refraction:
« Consider the boundary of two dielectrics, [ 1 and [ »

» We can determine the refraction of the electric field across the interface using the dielectric boundary
conditions provided.

fE-dl =0

Ah—0

E,=E,

E,sin@, =E,, =E,, =E,siné,
E, sin6 = E,sin 6,

{D-ds=o,,
S
@, —0 E,sm6, =E,sm0,
D, =D, l £, cos b, = E,g,cos 6,
E& =D, =D, =E,,é&, . D
2
Eig cos 6 =D, = D,, = Ess, cos 6, e & £ 91 = £ 62
E,g cos 6 =E,s,cos6, & &,

* Thus an interface between two dielectrics produces bending of flux lines as a result of unequal
polarization charges that accumulate on the opposite sides of the interface.

Electrostatic Boundary VValue Problems

Poisson’s and Laplace’s Equations for Electrostatics:

« Solving for the potential, V, using charge density.



V-ZA)=V-(CE)= o,
E=-VV
So,
=V (V) =0,

vy ="%
g
The above equation is known as Poisson’s equation. For a charge-free region the above equation can be
written as,
V=0

The above equation is known as Laplace’s equation.
« Uniqueness theorem: Although there are many ways to solve a differential equation, there is only one
solution for any given set of boundary conditions.

Resistance:
For a uniform conductor, the resistance is given by,
R =pL/S
» We can also define it using Ohm’s law, for a conductor with non-uniform cross-section, as,
vy [E.dl
I {oF-dS

» The actual resistance in a conductor of non-uniform cross section can be solved as a boundary value
problem using the following steps,
— Choose a coordinate system.

— Assume that V, is the potential difference between two conductor terminals

— Solve Laplace’s Eqn. to obtain V. Then Determine E = -1 V and solve | from
I=|of-dS
— Finally, R = Vo/l.

Capacitance
« Capacitance is the ratio of the magnitude of charge on two separated plates to the potential difference
between them.

10, SEF E-dS

A e
4 J. E-di
The negative sign is dropped in the definition above because we are interested in the absolute value of the
voltage drop.
« Capacitance is obtained by one of two methods
— Assuming Q, determine V in terms of Q

— Assuming V, determine Q in terms of V

Using the above equation we can find the capacitance & resistance associated with parallel plate
capacitor, coaxial cable & spherical capacitors.



Method of Images

<Image theory: A given charge configuration above an infinite grounded perfect conducting plane may be
replaced by a mirror image of the charge configuration and an equipotential line in place of the
conducting plane

This theory is of significant importance because it allows one to significantly simplify complex
problems using symmetry.

/\\

—n P / \
Qe ( f Qe l ) =Py

. N

Perfectly conducting plane V=0 Equipotential surface V=0
Qe —Pr ( o
/ ;
@&FF
(a) (b)
QUESTIONS:

1.Prove that any solution to Laplace’s equation which satisfies the same boundary conditions must be the

only solution regardless of the method used.

2.What is the current density of a convection current constituted by some charge in motion.

3.Derive the point form of continuity equation.

4. Define polarization of a dielectric. Establish the relationship between electric susceptibility, polarization

vector and electric field intensity.

5.Why do charges remain on the surface of conductor.

6.What is electrostatic shielding? State the approach for finding the capacitance of a multiconductor

system.

7.Two Condensers of capacity C; and C, possessing initially charges g1 and g2 respe(Etiver are coznnected

C C

in parallel. Show that there is a loss of electrostatic energy amounting to 2 9 1q2) . In

2C,C,(C,+Cy)

what form does this energy appear?
8.Compute the work done in moving a point charge Q around a closed loop in a static field. What is the

nature of electric field?



MODULE-I

Introduction to Magnetic Fields

Electrostatic fields are generated by static charges, magnetostatic fields are generated by static currents
(charges that move with constant velocity in a particular direction).

*There are several similarities between electrostatic and magnetostatic fields
«For example, as we had E and D for electrostatics, we now use B and H to examine magnetic systems

+Our study of these fields allows us to evaluate and solve for a tremendous number of electric and
electromechanical devices.

«Furthermore this study, will provide the basis for formulating an universal theory of Electromagnetic

Fields that is utilized in almost every aspect of electrical engineering.

Analogy Between Electric and Magnetic Fields

Electric Magnetic
; o KhO: , oy
+  Basic Laws F===14 dp—teldlxa,
arer AxR>
§D.(/‘S :Qa:c §H'(}].:](_”C
+  Force Law F=QF F=QiixB
- Source Element a0 Oii = IdT
- - : o
Field intensity E= ; (V' /'m) Hziu ! m)
*  Flux density ” .
; ; ; D= l/—((" /m?) s _ ¥ (wrh /0002
+ Relationship Between Fields 9 B = ?(U b/m?*)
l_) =¢E B=uH
+ Potentials E=—VF o Sy
== J.M ll[l"ﬂ.
Aner A= [
505 4R
0 = e . e
W=y = f B.ds
=0=CV
*  Flux wr=g 57 yr=IE1
(’ /7
=6 .
dt I=L <l
i dt
. Wy =—D-F T = =
+ Energy Density 2 W= B 4
i ¥ 721 7\' o Kvece l
«  Poisson’s Egn. e ViAd=—ut

&



Biot-Savart’s Law

« The differential magnetic field intensity, dH, produced at a point P, by the differential current element,
Idl, is proportional to the product Idl and the sine of the angle between the element and the line joining P
to the element and is inversely proportional to the square of the distance, R, between P and the element

af = T <y _ fd7><‘l3 _ Hdisina

4xR* 4R’ 4R

H(or /) is out H(or Iisin
/

(a) (h)

o

Considering different current distributions(as shown above) we can rewrite expression for field intensity
as below,

ﬁ: ‘]dTXCAIR
v 4nR°
ﬁ: ‘KdSX&R
% 47R?
ﬁ: 'jdVXGAR
47R*

-



H Field From a Strait Current Carrying Filament
- The H field is determined for a strait filament of current in a manner very similar to that of the electric

field determined from a line charge.

4

V)

43

dl = dza,

Bl ol

dl xR = pdzd,,

= Ipdza,
. ax(p* —22)3 ’

Now,
z=pcoto

dz = —,0((.‘5(:2 a)Ja
J._Ip csc” a)r/aa

Ax(pese af)

(=4

_ F @
H=— s ¢ cm
] _[( )d

H=——(cosa, —cos &, )d,

4
Fet B -

A7p ¢ Line fromz=01to «
.4 a, Line from z = - to =

27p =



Using Biot-savart’s law we can find the expression for field intensity due to different current carrying
conductor configurations.

Ampere’s law:

The line integral of H around a closed path is the same as the net current, lenc, enclosed by the path,
$ H-dl =1,

— Similar to Gauss’ law since Ampere’s law is easily used to determine H when the current distribution is

symmetrical.

— Ampere’s law ALWAYS holds, even if the current distribution is NOT symmetrical, however the
equation is typically used for symmetric cases.

— Like Gauss and Coulomb’s Laws, Ampere’s law is a special case of the Biot-Savart law and can be
derived directly from it.
« Applying Stokes’s theorem, we have,

So, from the above two equations,

Applications of Ampere’s Circuit Law
« A simple application of Ampere’s law can be used to easily derive the magnetic field intensity from an
infinite line current ,

-t

Amperian path

\

1, =4§iI-di
= J.]-f‘f,(}(‘ﬁ . pdgf%}(f,‘ = Hq,J‘pa’(,‘) =H, -2np
Bt 8,

2mp *

Ampere’s Circuit Law: Infinite Sheet of Current

- Consider an infinite sheet of current in the z=0 plane with a uniform current density, K=Kyay.



Amperian path

Ienc :fﬁlﬁ— =K. b Apply Ampere’s
law
- [ Hya,,z>0
T — «
—Hya,,z2 <0
s R T T
H('/.lz +1+ 1+ ]H'('/./
g (el ]

=0(—a)-H,(—b)+0(a)+Hy,(b)=2HD

firom Ampere’s law and integral summation
H. =K.

-~

| R
B ;I\;J.ax.::)O
H = "l
—;K‘,(";x.:<0

Thus for an infinite sheet of charge,

Helgel
2

dH

dH 2

So, by using Ampere’s circuital law, the expressions for magnetic field intensity of different structures

can be derived.

Magnetic Flux Density

« Magnetic Flux density, B, is the magnetic equivalent of the electric flux density, D. As such, one can

define,

By i



where 4, =47 %107 H /m

« Similarly, Ampere’s Law is,

L, —§Z.di
Ho
« And the Magnetic flux through a surface is,
W :J.l—?-dg = /IOII?-ciS
S s

« The magnetic flux through an enclosed system is,

w :.[B.ds‘ =[(V-Bav

Sy

-Unlike electrostatic flux however, magnetic flux always follows a closed path and fold in on themselves.
This simple statement has profound consequences. In electrostatics, we can easily define a point charge in
which electric fields emanate to infinity. However, the solenoidal nature of the magnetic field requires
magnetic flux to travel from a positive (north) to a negative (south) pole and it is not possible to have a

single magnetic pole at any time.
Closed surface, ¥ = Q

Closed surface, ¥ = 0

(a) (b)
—There are NO magnetic monopoles, stipulating that an isolated magnetic charge DOES NOT EXIST

—The minimum field requirement for magnetics is a dipole.
So, mathematically,

V-B=0
Maxwell’s Egns. for Static Fields
Differential Form Integral Form Remarks
V.-D=p, l'f D-dS - J' p.dv Gauss’s Law
S
< & Nonexistence of the
V.B=0 {B dS =0 Magnetic Monopole
hy
= o7 — Conservative nature
VxE=0 f E-dl =0 of the Electric Field
4
VxH=J §H’-d7_§]d5' Ampere's Law



Magnetic Scalar & Vector Potential

We can define a magnetic field using the following requirements.
VxVFV =0

v (Vxd)=0

.Justas E= VI, we can definea magnetic scalar potential Vm related to H when the current density is
zero as

J=VxH=Vx(-VV, )=0

m

V. =0Jd=0
- The requirement for a solenoidal field (and Maxwell’s 4th law of electrostatics) stipulates
V.-B=0
« And we can therefore define a magnetic vector potential, A, as
B=VxA4
V= j ag
« Just as we defined the Electric Potential as Az, We can define the Magnetic Vector Potential
as,
= uldl ,
A zj for Line Current
; 47R
- 1,KdS
A= J Fo for Surface Current
s 47R
A= J' HoJdV tor \iolume Current
7 4R
QUESTIONS:

1.Derive Biot Savart law using the concept of vector magnetic potential.
2.Show that the vector Magnetic Potential A of two parallel infinite straight wires carrying current I in

the opposite direction (as shown in Fig below) is given by,

0ol r,
A= 20 a2
e,

L




3.Calculate the force of repulsion per meter between two long parallel wires 30cm apart carrying current
of 50amp in opposite directions

4.A circuit is in the form of a regular polygon of n sides inscribed in a circle of radius a. If it is carrying a

current 1, show that the magnetic induction at the center is given by

doni, [ . . . . ) )

o tan —. Show that this expression approaches the induction at the center of a circle as n is
a n

indefinitely increased.

MODULE-II

Magnetic Forces Materials and Devices:

Lorentz Force Law:
- The force on a charged particle in an electric field is simply F=qE

« However, in the presence of an electromagnetic field an additional force is imposed from the charge
displacement of velocity, u, quantified by the magnetic field, B.

 The combined force is defined by Lorentz Force Law:
F=q(E+uxB)
- Equating the Lorentz force to Newton’s force equation, we have,
-
ai

F—g(E+uxB)—ma—m /
ol
Where a’ is the acceleration of the particle is space.

Force on a Current Element

+ One can also use field calculations to determine the force acting on a current element, 1dlI=KdS=Jdv,
due to an applied external magnetic field B.

« Assume that a copper wire carries a current density, J=0 u.

« We know:
Idl = Jdv = P =dQii
« And that:

F=g(E+iixB)
where E —0
F =q(ii x B)

Thus we can solve for the force on the first wire:

dF = dgq (1 B)= Idi xB

F= §Ia’7 % B

o 5
Lilkewise

F=§Kd§'x§=F=j€Jd\~xz§
L L



+ Now one can define force on a current element from a magnetic field.

- However, that magnetic field must be generated somehow. What if it was generated by field produced
from current passing through a second current element nearby. This means that currents in neighboring
wires generate magnetic fields that generate forces on each other.

.

N
/

1

——

» Newton’s law requires that the force, F1, acting on element 1 is equal and opposite to the force F2
acting on element 2.

« One can calculate these interdependent forces through the following derivation.
dF, — 1,dl, x B,
d(dF,) = Ldi, »dB,

From Biot- Savart’s law we have,
== 1 Iﬂd’_\ X (}
dB, = M2 2% g
} 47R
On substituting,
w\r.di, xa,)

d(dF) = 1,41, x

5

4/T.R]'2
d:l - {Ildz L Ao “13.’1/3; dp )
L 47R;,

‘E: " f j. I](]]_l o ,!10(1'_-_\(]72;: (:IR )_ 'l[c'jlll ‘1- fa'i—x . (avfl \’\-t;lR )
Li, 4’TR12 iz i i, Rll

Using the above method we can find the force between two current carrying conductors.



Magnetic Torque and Moment:

- Let’s examine the Torque applied to a current carrying loop.
z

/
/

7
7

/i
AT -
- v

By w—//—> A
7
/~——Axis of rotation

- Torque, T, on the loop is the vector product of the force, F, and the moment arm, r.
T=rFxF
m = ‘F”F‘sina

Y
i
o

And for a uniform magnetic field,

|| = 1B

’]—"| = JBhvsina
But, "W =S so
‘f‘ = IBSsino

Where we can now define a quantity m as the magnetic dipole moment with units A/m2 which is the
product of the current and area of the loop in the direction normal the surface area defined by the loop

= ]S(Azn
7—" =7 X ﬁ
QUESTIONS:

wire is bent into a plane to form a square of 30cm side and a current of 10 A is passed
through it. Calculate H at the centre of the loop.

Magnetization in Materials:
« We know that all materials are made up of atoms consisting of electrons orbiting nuclei.

« Each of these electrons can also be said to spin about its axis.

« In certain materials these spins associated with atomic magnetic dipoles align over large atomic
distances to create magnetic domains across several thousands of atoms.



« As the individual magnetic domains align, over larger and larger volumes of the material, then the
material is said to magnetize.

« Magnetization M, in A/m, is the magnetic dipole moment per unit volume.
- If N atoms are in a given volume, ov, then the kth atom has a magnetic moment m.

L i

i
& Electron
(= Electron

|

(a) (b)

Nucleus

@

Awv

(a) (b)

N

B ka
M =l ==
Av—=0 Av

adm — Z\}d\ >

dAd — 4;122 (47 x dp k!

recailing

Bl

R’ R

rhein

A= Ha j-( Af x V'i )rf\"
4 R .

We know,



M

MxV' L e d - V'SM — V'
R R
So,
G ,/IO_J',VX*U o ,uo JVX e
47T <.
Again,

j V'x Fdv' = —§ FxdS
S

So,

x‘i= Ly IVXAI it Ly fﬂgfde _ Ly JonA.{ i
4wy X dry X 473 R

im o [T Rods

4r:. R 4 <

Where b in the J and K terms represents a bound current densities

jb =V><A}

K, =Mxa,

In_ firee space.—= M =0

Ay
However. _in_a_material. = M=0
B | e e - oy
Vx—=J,+J,=J=VxH+VxM
Ay

—> B = /10(H+A-I)
For any linear magnetic material medium we have,
M=y, H
So,

W

Ay

Mxa,

472'5

{

R

das



B=u(+y, ) H = popt. H= uH
vielding
.
:111' = 1_ /—/"? B a—
Ay
Where [ is called the permeability of the material and is measured in H/m &r is called the relative
permeability.

Classification of Magnetic Materials:

«In general we use the magnetic susceptibility (or relative permeability) to classify materials in terms of
their magnetic property.

A material is said to be nonmagnetic if there is no bound current density or zero susceptibility. Otherwise
it is magnetic.

-Magnetic materials may be grouped into three classes: diamagnetic, paramagnetic, and ferromagnetic.
«For many practice purposes, diamagnetic and paramagnetic materials exhibit little to no magnetic.

susceptibility. What magnetic properties these materials do have, follows a linear response over a large
range of applied fields.

-Ferromagnetic materials kept below the Curie temperature exhibit very large nonlinear magnetic
susceptibility and are used for conventional magnetic device applications.

Classification of Magnetic Materials

«Diamagnetism

—Occurs when the magnetic fields in the material due to individual electron moments cancels each other
out. Thus the permanent magnetic moment of each atom is zero.

—Such materials are very weakly affected by magnetic fields.
—Diamagnetic materials include Copper, Bismuth, silicon, diamond, and sodium chloride (table salt)

—In general this effect is temperature independent. Thus, for example, there is no technique for
magnetizing copper

—Superconductors exhibit perfect diamagnetism. The effect is so strong that magnetic fields applied
across a superconductor do not penetrate more than a few atomic layers, resulting in B=0 within the
material

«Paramagnetism

—Materials whose atoms exhibit a slight non-zero magnetic moment

—Paramangetism is temperature dependent

—Most materials (air, tungsten, potassium, monell) exhibit paramagnetic effects that provide slight
magnetization in the presence of large fields at low temperatures

«Ferromagnetism

—QOccurs in atoms with a relatively large magnetic moment

—Examples: Cobalt, Iron, Nickel, various alloys based on these three
—Capable of being magnetized very strongly by a magnetic field
—Retain a considerable amount of their magnetization when removed from the field

—L ose their ferromagnetic properties and become linear paramagnetic materials (non magnetic) when the
temperature is raised above a critical temperature called the Curie temperature.



—Their magnetization is nonlinear. Thus the constitutive relation B= o H does not hold because
depends directly on B and cannot be represented by a single value.

Magnetic materials

Linear l Nonlinear
Diamagnetics Paramagnetics Ferromagnetics
Xm <0, 1 =10 Xm > 0, p, = 1 Xm = 0, p, > 1

Magnetic Boundary Conditions:
« Magnetic boundary conditions for B and H crossing any material interface must match the following

conditions developed using Guass’s law for magnetic fields and Ampere’s circuit law.
§B-ds=o0 {H-dl =1




- These boundary conditions can be used to develop an equivalent to Snell’s law for magnetic fields

—

:lB

= B, cos 6,

2n

B, cos 6, = ‘B’:,,

) 5 o P B sin 0,
‘ _I‘ Z
L,

B. . -
—4smO, — ’II],
A

M, tan 6 =y tan 6,

Inductors and Inductance:
« We now know that closed magnetic circuit carrying current | produces a magnetic field with flux

= J.I? -dS
+ We define the flux linkage between a circuit with N identical turns as,

/1 — N\P
« As long as the medium the flux passes through is linear (isotropic) then then flux linkage is proportional
to the current | producing it and can be written as,

/‘1 — .LI
Where L is a constant of proportionality called the inductance of the circuit. A circuit that contains
inductance is said to be an inductor.
« One can equate the inductance to the magnetic flux of the circuit as

A NY
_L ==
o
where L is measured in units of Henrys (H) = Wb/A.
« The magnetic energy (in Joules) stored by the inductor is expressed as,

W, =L

m

Inductors and Inductance:
« Since we know that magnetic fields produce forces on nearby current elements, and that those magnetic
fields can be generated by an isolated or coupled set of current carrying circuits, then it is only reasonable

that such circuits may induce fields and magnetization between them.
[l

Circuit 1 ' Circuit 2

« We can calculate the individual flux linkage between the two components as
¥, = [B,-dS
Sl
« Likewise we can determine a mutual inductance between the circuits that is equal from circuit 12 as it is
from circuit 21 as



.Ll.[l" : : 12
E" L
« Individual inductances are
Ll - ﬁ s —'V1\}I1 | ‘12 = *‘\Tz\'Pz
4 I o ¥ iT.

« The total magnetic energy in the circuit is
. 1 . 1 5
. =W 0,0 = ;—Llff + = Lo b M LA

 Mutual inductance may be calculated by the following method,
— Determine the internal inductance, Lin for the flux generated by the first inductor

— Determine the external inductance, Lext produced by the flux external of the first inductor

— The sum of the internal and external inductance equals the individual inductances plus the mutual
inductance between the elements

Magnetic Energy
We can derive a similar term as derived for electric energy, for magnetic energy using the relation for
energy as a function of inductance.

2
AL — AWV ' JHAXxAY

where. AI = HAz
_ MHAxAy  puAxAy

’ 1 g |l 9

i

| .

Magnetic Circuits

+The following relations allow one to solve magnetic field problems in a manner similar to that of
electronic circuits. It provides a clear means of designing transformers, motors, generators, and relays
using a lumped circuit model. The analogy between electronic and magnetic circuits is provided below.




Table 8.4 Analogy between Electric and Magnetic Circuits

Electric

Magnetic

Conductivity o
Field intensity E
Current/ = [ J-dS

1
Current density J = — = oFE

S
Electromotive force (emf) V
Resistance R
1
Conductance G = I
Vv ¢
Ohm’s law R = 7= oS
or V=E{=IR
Kirchhoff’s laws:
2I=0
2V—-—2RI=0

Permeability p
Field intensity H
Magnetic flux ¥ = [B - dS

¥
Flux density B = 5 = puH

Magnetomotive force (mmf) F
Reluctance R

Permeance # =

Ohm’s law & = _€_
uS
or F = H¢ = YR = NI
Kirchhoff’s laws:
2¥P=0
SF-ZRY=0

<l 9|~

Maxwell’s Equations:
Faraday’s Law for induced emf:

«Induced electromotive force (emf) (in volts) in any closed circuit is equal to the time rate of change of

magnetic flux by the circuit,

o~ d

da N d¥

dr

where, as before, [ is the flux linkage, 0 is the magnetic flux, N is the number of turns in the inductor,
and t represents a time interval. The negative sign shows that the induced voltage acts to oppose the flux

producing it.

+The statement in blue above is known as Lenz’s Law: the induced voltage acts to oppose the flux

producing it.

«Examples of emf generated electric fields: electric generators, batteries, thermocouples, fuel cells,

photovoltaic cells, transformers.

« To elaborate on emf, lets consider a battery circuit.

I

P >
B:—ittcry\— i E, W

£ 1 e,

S

2

N

« The electrochemical action within the battery results and in emf produced electric field, Ef

« Acuminated charges at the terminals provide an electrostatic field Ee that also exist that counteracts the

emf generated potential

E=E +E,



P
§E-al ={E, -dl +0=[E .dl

L L N

- The total emf generated in the between the two open terminals in the battery is therefore

P_‘ _ P_. _
V =\E,.dl=-—\E, -dl =IR
emf !, o :‘\‘, e

Transformer and Motional Electromotive Forces:
« The variation of flux with time may be caused by three ways
1. Having a stationary loop in a time-varying B field

2. Having a time-varying loop in a static B field
3. Having a time-varying loop in a time-varying B field

« A stationary loop in a time-varying B field
: = 4’”?
KA ———
dr

« A time-varying loop in a static B field ' ‘
VxE, =VxlixRB)|
« A time-varying loop in a time-varying B field
- d}}‘ ; A
‘ ———+Vx(l7><b”
dr \ s

<
X
=~
|

Displacement Current:

« Lets now examine time dependent fields from the perspective on Ampere’s Law.
VxH=J

- —
V. (V x H ) =0=V.J This vector identity for the cross product is mathematically
= éo. valid. However, it requires that the continuity egn. equals
v F v J ® . o . .
L == o =0 zero, which is not valid from an electrostatics standpoint!

VxH=J+J,{&————71 Thus, lets add an additional current density term
i = . to balance the electrostatic field requirement
V.(VxH)=0=V.J+V.J,

|
()]
o

Vil; _ .3 90 Ol ) o

-

ot ét" or

= oD We can now define the displacement current density as
J = s Bt :
g the time derivative of the displacement vector
D
VxH=J+ = Another of Maxwell's for time varying fields
C

This one relates Magnetic Field Intensity to conduction
and displacement current densities



- We can apply the displacement current concept on the simple case of a capacitive element in a simple
electronic circuit, as shown below.

Based on the equation for displacement current density, we can define the displacement current in a
circuit as shown. Applying Ampere’s circuit law to a closed path provides the following eqn. for current
on the first side of the capacitive element. However surface 2 is the opposite side of the capacitor and has
no conduction current allowing for no enclosed current at surface 2. If J =0 on the second surface then Jd
must be generated on the second surface to create a time displaced current equal to current on surface 1.

If J =0 on the second surface then Jg must be generated on the second surface to create a time displaced
current equal to current on surface 1.

- - = = D= - dO
f-di - [J,-dS-—[D-dS-"=_1
2 5 '/'f'.: or
We know,

‘/
D=¢gE=¢
d
So, -
F oD BBV
ot d dt
O - LY.
d dt dt

from _surface 1
dO _dp, _dD _ SdE _&sdr _Ca'V

f = =S s =
dt dt dt d d dt dt



Maxwell’s Time Dependent Equations

The Maxwell’s equations for time dependent fields are,

Differential Form Integral Form Remarks
V.-D= £, §f)d§ = j/)"d\' Gauss’s Law
S

> s Nonexistence of the

-5 §B -dS =0 Magnetic Monopole
%

= AR P = ;

VxE:_C;_B §Eadl =_i B.dS Faraday's Law
ot - ot .

- g A sy
oD fﬁ.d/’ :f T +£ .dS  Ampere’s Circuit Law
L S

QUESTIONS:

1.Explain the terms “Self inductance” and “mutual inductance”.

2.Derive the relationship between magnetic vector potential and current density vector

3.An electron travels with a velocity of 2x10® m/s perpendicular to a magnetic flux density of 0.15W/m?.

Determine the force on moving electron.

4.Draw a comparison between Electric and magnetic monopoles and dipoles.

5.Discuss the nature of various magnetic materials.

6. State the Maxwell’s equations for static fields.

7.Show that the magnetic induction in Weber per square metre at the center of a square circuit of length |

220 i
]

on a side carrying a current iis where i is in amperes and | is in meteres.

8.Write the expressions for vector magnetic potentials for three standard current configurations i.e.

current filament, sheet current and volume current. ) o
9.Derive Poisson’s equation and also its analogous one for static magnetic field.

10.Prove that the field V=/Al * + B Isin 41 obeys Laplace’s Equation
11. Prove that any solution to Laplace’s equation which satisfies the same boundary conditions must be
the only solution regardless of the method used.
1-mdiameter loop carries 25Amp. Find the magnetic flux density(B)
(i) at the center of the loop and  (ii)on the loop axis 1m from the center



MODULE-IV

Plane Wave:

2 2
A uniform plane wave is the wave that the electric field, E or magnetic field, H in same direction, same
magnitude and same phase in infinite planes perpendicular to the direction of propagation. A plane wave
has no electric field, and magnetic field, components along its direction of propagation.

\ Elactric
~— W?V?‘?'mr field

S i

g Descton
' -
-

e

/F 2 3

| \0 !“
Y

Wave Equations:

If the wave is in simple ( linear, isotropic and homogeneous ) nonconducting medium (0 =0), Maxwell’s
equation reduce to,

VXE:—,UE ﬁE:[]

VxH=e— V.H-0
ot

The first-order differential equations in the two variables E and H . They can combine to give E or H
alone using second-order equation.

Using Maxwell’s equation,

. OH = = oF —
Vali=—p_ Q) Pxif=ez @) N.E—0 @)

The curl of equation of (1)



ot
Replacing in equation (2)
e 0°E
VXVXE =—1e—
ot~
We know that VxVxE= 6(6 -E )- V’E because of equation (3), thus the wave equation is
=2 GIE
VN E—pue——=0
ot

The wave equation also can written as

VCE—-E2E—0

. . C - jor . .
Assuming an implicit time dependence € in the field vector. Equation (a) also called Helmholtz
equation. Thek is called the wave number or propagation constant.

}» = ko \/; l
9 and L
N azf B Jeu

where c is the velocity of light in free space.

For magnetic intensity domain, H , we have,

=5 = oIl " o

V'H — us e or YV B =10

AN
For a uniform plane wave with an electric field E = x E, traveling in the z-direction, the wave equation
can be reduced as

a‘—,(")—kzé.,(:): 0

X
-~
(@t

The solution of this wave equation,



Where [
[}
The associated magnetic field, H ,

where

is the attenuation constant of the medium and [

xE

s

b

(2)

> —kz
=xk_ e

xE, g Fh g APE

by

LR el R
¥

is the intrinsic impedance of the medium.

The k is called the wave number or propagation constant.

k=i e,

B ule -je)

The wave number can also be written in terms of 0 and [

Thus,

K =(a+jp)
=(a* - p*)+ j20p

2 2 2
o - =Kl

BB = Ic” yu e”

By solving (1) & (2),

ku e ( ey
o — a/v“l T r !
2 '\} z
l\ . o,
| Z [ ) )
ﬂ: 0/:7°7|J1+{87‘l 1
= | gl
\

is its phase constant.

(1)
(2)



So for different medium,

Lossless Medium

[ =@\ s

Low-loss Medium

[ = o us

= V‘frfucr

Electromagnetic Phenomena are described by using four Maxwell’s equations:

-
Right

£T.-B= p
H_J
Left

Left side:

Divergence of the -electric
field. £ — the tendency of the
field to “flow™ away from a
specified location.

Right side:
Electric charge density. p

Maxwell’s euation
Integral form: Description Information
Gauss’s  Law
£ [J] E‘ -dS = Left side: Electric chargg produces an
(Electric fields) |“o g, The number of electric field |electric field. E and the flux of
%,—J - 5 % . .
Lefi Right | lines — perpendicularly passing | that field passing through any
through to a closed surface. S |closed surface is proportional to
the total charge. ¢ contained
Right side: within that surface.
Total amount of charge. ¢
contained within that surface.. |Charge on an insulated
conductor moves  outward
Differential form: surface.

The electric field. £ produced
by electric charge diverges from
positive charge and converges
upon negative charge.

The electric field. £is tendency
to propagate perpendicularly
away from a surface charge.




Gauss’s Law Integral form:
Left side: The total magnetic flux passing
(Magnetic fields) ya[[ 1} . dg = The number of magnetic field | through any closed surface 1s
: R;;hr lmes -  perpendicularly | zero.
Left passing through a closed
surface. Flux enter the closed surface 1s
same with the flux come out
Right side: from the surface.
Identically zero.
The divergence of the
Differential form: magnetic field at any point 1s
- Left side: zero.
gV o H = 9 Divergence of the magnetic
Left Rght field — the tendency of the
field to “flow™ away from a
point than toward it.
Right side:
Identically zero.
Integral form:
Faraday’s Law ~ Left side: Changing magnetic flux
- 0H -|The circulation of the vector |through a surface induces

Left Right

ﬂ E'df:_/IOJ.sE'dS

path. C.

Right side:

any surface. .S

electric field. £ around a closed

The rate of change with time
(d/dr) of magnetic field. through

an emf in any boundary
path. C of that surface,
and a changing magnetic

field. H induces a
circulating electric field.

Differential form:

TxE=—y, 2L
r O
Right

Left side:

circulate around a point.
Right side:

magnetic field. H
(d/dr)

Curl of the electric field, — the
tendency of the field lines to

The rate of change of the
over time

A circulating  electric
field. is produced by a
magnetic field. / that
changes with time.




Integral form:

Left

Right

to circulate around a point.

Right side:

Two terms represent the
electric current density. J. and
the time rate of change of the
electric field. E .

Ampere’s Law Left side: An electric current or a
a* The circulation of the|changing electric flux
ﬁ (ﬁ:[ J{ te _E d§ magnetic field. Aaround a |through a surface
AT ot closed path. C. produces a circulating
Let ; magnetic field around any
Rght Right side: path. C that bounds that
Two sources for the magnetic | surface.
field. A a steady conduction
current, j( and a changing
electric field. F through any
surface. bounded by closed
path. C.
Differential form:
" Left side: A circulating electric
Vs H =T % g Curl of the magnetic field. — | field. is produced by a
S ¥ ° ot the tendency of the field lines | magnetic ~ field. 7 that

changes with time.

An electric current, or a
changing electric field.
through a surface
produces a circulating

magnetic field. Zaround
any path that bounds that
surface.

Poynting Vector and Power Flow in Electromagnetic Fields:

Electromagnetic waves can transport energy from one point to another point. The electric and magnetic
field intensities associated with a travelling electromagnetic wave can be related to the rate of such energy

transfer.

Let us consider Maxwell's Curl Equations:

Using vector identity
7. (EXE) —HVxE-EVxH

The above curl equations we can write

708 _a(1
gg del 2
And E.:f:JEE_

2

?x§=—ﬁ
di
TxF =+ 22
i

280 _3(1 o

In simple medium where SH and T are constant, we can write

- (ExH)- %[ég

Car Al
1 2| 2
E’HH af




Applying Divergence theorem we can write,

(ExH)dS = S em i Ly lar - pomtar
at ¢l 2 2
................ (a)
;J[%E E* +% Hﬂ]drf
The term t represents the rate of change of energy stored in the electric and

Jcrgﬂdaf
magnetic fields and the term represents the power dissipation within the volume. Hence right
hand side of the equation (a) represents the total decrease in power within the volume under
consideration.

f(EXH)dS=?P.dS o
The left hand side of equation (6.36) can be written as where & =Z=H
(W/mt?) is called the Poynting vector and it represents the power density vector associated with the
electromagnetic field. The integration of the Poynting vector over any closed surface gives the net power
flowing out of the surface. Equation (6.36) is referred to as Poynting theorem and it states that the net
power flowing out of a given volume is equal to the time rate of decrease in the energy stored within the
volume minus the conduction losses.

Poynting vector for the time harmonic case:

. . . .. . it .
For time harmonic case, the time variation is of the form €, and we have seen that instantaneous value

of a quantity is the real part of the product of a phasor quantity and 2’ \when o3 @ js used as
reference. For example, if we consider the phasor

E[z) = a:: E.(z)= c:: Egi#E

then we can write the instanteneous field as

E[z,z) =Re [E[z) E"""’] = Bycos( @t - Sz)a,
when Eo is real.
Let us consider two instanteneous guantities A and B such that

A=Fe (_rﬂé'j‘”’) = |.r‘§l||:05|':m£ +a) B=Re (Bej‘"r) = |B| cos (@ + &)
A=|Al™
B =|8|e¥

where A and B are the phasor quantities. i.e,

Therefore,
Af = |ﬂ|cos|[mif + &)|B|cos[£ﬁ + ﬁ)
- %|ﬂ||3|[cos[& - §)+ cos(201 + ar+ )]
_

T
Since A and B are periodic with period & | the time average value of the product form AB, denoted

by AE can be written as



— 1f
Ab = —JHB.:;&‘,
T
A5 = |4)Blcos (@ £)
Further, considering the phasor quantities A and B, we find that
45" = |dlo’ Bl - |43l
Re(AB")=|4||8|cos (@~ 8)

and , Where * denotes complex conjugate.
AR =Llre(us)
2

The poynting vector P=ExH can be expressed as

n

P-a,(BH,-EH,) va (B H, - EH, ) a,(EH, - EH)

If we consider a plane electromagnetic wave propagating in +z direction and has only £ component,
from (b) we can write:

— e

Fr=E [z,f,:lHJJ [z,f,:l.::;3

Using (6.41)
- ]. * "
Frav = ERE[‘-E':';,f (z) H, I':z:lczz]
= 1
Pra = ERE(EK (z)xH, (z))
where £@) = E(zZ)a, 4q Hiz) = H,(z)a, , for the plane wave under consideration.

For a general case, we can write

— ——

P@=%RE(E><H)

We can define a complex Poynting vector

§-1EF
2
. . . . . A_ém' =FEe (E)
and time average of the instantaneous Poynting vector is given by .

Polarisation of plane wave:

The polarization of a plane wave can be defined as the orientation of the electric field vector as a function
of time at a fixed point in space. For an electromagnetic wave, the specification of the orientation of the
electric field is sufficient as the magnetic field components are related to electric field vector by the
Maxwell's equations.

Let us consider a plane wave travelling in the +z direction. The wave has both Exand Ey components.



E= [ax B, ta, kB, ]e_'?;ﬁx
The corresponding magnetic fields are given by,
— 1~ =
H=—uaxf
7

= Eazx a B+ @, Eﬂy g

1 i~ e .
= _[_E:J.}'ax-l- E::w ﬂ::lr]’a?_ﬂ}:g
7

Depending upon the values of Eqx and Eoy We can have several possibilities:

1. If Eqy = 0, then the wave is linearly polarised in the x-direction.

2. If Eoy = 0, then the wave is linearly polarised in the y-direction.

3. If Eox and Eoy are both real (or complex with equal phase), once again we get a linearly polarised wave

tan ™! E"y
with the axis of polarisation inclined at an angle B , With respect to the x-axis. This is shown in
fig 6.4.
E, '
;.f Eox x

i/
/!
r

Fig 6.4 : Linear Polarisation

If Eox and Eoy are complex with different phase angles, £ will not point to a single spatial direction.
This is explained as follows:

t Eﬂx = |Eﬂw|€ﬁ, Ea,v = |E::-y |'E:’“?.'EI

Le
Then. E (z,fy=FRe [|Em|e‘me_‘wxej"’!] = |Em|cos (@t — Bz +a)
= B g et | _
g H@0 Re[|E e || fcos(@ - gzvr) 9

To keep the things simple, let us consider a =0 and . Further, let us study the nature of the electric

field on the z =0 plain.
From equation (c) we find that,
E (a.8) =|E,|cos ax

i
cos|dE+—| =
[=+3)

,, (—sin @)

E,(0,8) =

£,




2

=coz® @ +sin® @ =1

E

a

. [Eu] B, (0.2)

and the electric field vector at z = 0 can be written as

E[G,£)=|E‘,x|cos[&xjax— B, |sin(at)a, @
B | |7 k) _ . o
Assuming | ""| #¥1 , the plot of E[D"ﬁ) for various values of t is hown in figure 6.5.
.
",
i=3imlm
Eox
e - .x
i=a'w =0
Eoy
= ml2m

Figure 6.5 : Plot of E(0,t)
From equation (d) and figure (6.5) we observe that the tip of the arrow representing electric field vector
traces an ellipse and the field is said to be elliptically polarized.

v
IS

Figure 6.6: Polarisation ellipse



The polarisation ellipse shown in figure 6.6 is defined by its axial ratio(M/N, the ratio of semimajor to

semiminor axis), tilt angle . (orientation with respect to xaxis) and sense of rotation(i.e., CW or CCW).
Linear polarisation can be treated as a special case of elliptical polarisation, for which the axial ratio is
infinite.

In our example, if | "’f| #*1, from equation (6.47), the tip of the arrow representing electric field
vector traces out a circle. Such a case is referred to as Circular Polarisation. For circular polarisation the
axial ratio is unity.

A
\\\E_‘

Figure 6.7: Circular Polarisation (RHCP)

Further, the circular polarisation is aside to be right handed circular polarisation (RHCP) if the electric
field vector rotates in the direction of the fingers of the right hand when the thumb points in the direction
of propagation-(same and CCW). If the electric field vector rotates in the opposite direction, the
polarisation is asid to be left hand circular polarisation (LHCP) (same as CW).

In AM radio broadcast, the radiated electromagnetic wave is linearly polarised with the £ field vertical
to the ground( vertical polarisation) where as TV signals are horizontally polarised waves. FM broadcast
is usually carried out using circularly polarised waves.

In radio communication, different information signals can be transmitted at the same frequency at
orthogonal polarisation ( one signal as vertically polarised other horizontally polarised or one as RHCP
while the other as LHCP) to increase capacity. Otherwise, same signal can be transmitted at orthogonal
polarisation to obtain diversity gain to improve reliability of transmission.

Behaviour of Plane waves at the inteface of two media:

We have considered the propagation of uniform plane waves in an unbounded homogeneous medium. In
practice, the wave will propagate in bounded regions where several values of EHT will be present.
When plane wave travelling in one medium meets a different medium, it is partly reflected and partly
transmitted. In this section, we consider wave reflection and transmission at planar boundary between two
media.
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Fig 6.8 : Normal Incidence at a plane boundary
Casel: Let z = 0 plane represent the interface between two media. Medium 1 is characterised

by (8. 44.1) and medium 2 is characterized by CRHEREY .
Let the subscripts 'i' denotes incident, 'r' denotes reflected and 't' denotes transmitted field components
respectively.

fay

The incident wave is assumed to be a plane wave polarized along x and travelling in medium 1 along %
direction. From equation (6.24) we can write

Ei(z) = Be 7 ay

.................. Q)]
H; (z) = la:XEE (z) =£e""z ;y
??:- T s (f)
. =\{ J @
1 .
where % =@ (o + j@e) and aries

Because of the presence of the second medium at z =0, the incident wave will undergo partial reflection

Ll

and partial transmission. The reflected wave will travel along % in medium 1.
The reflected field components are:
By = B ar e ©)
16 e - -Brons
! L (h)

iy

The transmitted wave will travel in medium 2 along for which the field components are

s

. -rE
B e e 0



E:r = E_zﬂé—nz c;-;,
o e )
My = —jm{%

In medium 1,
El =Ez' +Er and El =Ei +§r
and in medium 2,
Eg = E: and Ez =§r
Applying boundary conditions at the interface z = 0, i.e., continuity of tangential field components and

noting that incident, reflected and transmitted field components are tangential at the boundary, we can
write

&

From equation (e) to (j) we get,

e )

E:?c? _ Er:? = E:r:?

L T T2 e )
Eliminating E ,

“e Ze - (5,+5,)
Mmoo T
[li]g [1 1
or o T o T
or, £, =1F,
r=t2"h
T2, (m)
is called the reflection coefficient.
From equation (K) & (l), we can write
28, =&, |1+
2
E!:: = 2??2 Ez’a =TE&:
or, ?.‘-'11 + ??2
T 2?."'12
i,

is called the transmission coefficient.



We observe that,

T = 21 _ M Tttt 14T

Tt Mt
The following may be noted
(i) both © and T are dimensionless and may be complex

iy 011

Let us now consider specific cases:
Case I: Normal incidence on a plane conducting boundary

The medium 1 is perfect dielectric [Jl B U) and medium 2 is perfectly conducting [Jﬁ B m) :

M =10
M =\/[fmﬁ1)[fm'51:'
= Jjaji g = J8

From (k) and (1)
T = -1
and T =0
Hence the wave is not transmitted to medium 2, it gets reflected entirely from the interface to the medium
1.

B (z) = B, a: -F, é“w'z =-2jF sin fza,
& B (z.£) =Re [—EJ.E,'!-(, 31 ,ﬁzej“’]ax =2E, sin Szsin@ia,
Proceeding in the same manner for the magnetic field in region 1, we can show that,
— ~ 2E
Hi [z,.ﬁ) =a, —2 oz Szcos @t

1
The wave in medium 1 thus becomes a standing wave due to the super position of a forward travelling

wave and a backward travelling wave. For a given ' t', both E1 and 1 vary sinusoidally with distance
measured from z = 0. This is shown in figure 6.9.
@t = 3 gfd

N
2

w
@l = & wl = gie

e By versus ¢ o= o

peyrmet
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e /\

(b) Hy varsus 7 @t = a2 s

Figure 6.9: Generation of standing wave




Zeroes of E1(z,t) and

ocourat @z=-nwm orz= —925
Maxima ofH1(z,t).

Maxima of E1(z,t) and

occur at ﬁlz=-|:2n+l)?—2r orz=-[2n+l)%, =012 .

zeroes ofHa(z,t).

Case2: Normal incidence on a plane dielectric boundary
If the medium 2 is not a perfect conductor (i.e. Ty = ) partial reflection will result. There will be a
reflected wave in the medium 1 and a transmitted wave in the medium 2.Because of the reflected wave,
standing wave is formed in medium 1.
From above equations we can write

E = E, (e_"‘x + I"é""x:]czx
Let us consider the scenario when both the media are dissipation less i.e. perfect dielectrics

(JI=D:JE=D)
W= g =08 = %
1
Fo = J@HEy = 0 5 Ty = %
,

In this case both 71 and %2 become real numbers.

—

B = S,{Ejﬂ (é‘.?'ﬁlx + l"é,.i';ﬁ.x)
N a?sz'a ([1 +T) g E 4T [E.i"ﬁux - é.—.r;ﬁ.x))
= a: %, (Te™% + T(2jsin §2))

From (n), we can see that, in medium 1 we have a traveling wave component with amplitude TEj, and a
standing wave component with amplitude 2JEio.

The location of the maximum and the minimum of the electric and magnetic field components in the
medium 1from the interface can be found as follows.

The electric field in medium 1 can be written as

E1= &;;Ei‘,é'_‘w'x (1 + l"e‘ﬂﬁ'x)
if 727 Mje T'>0
The maximum value of the electric field is
|8 =&,(1+7)
and this occurs when
2z, = 2R



or , N=0,1,2,3 (0)

N El
The minimum value of is
& -&(-1)
And this occurs when
2820 = —[232 +1)J‘T

th =_|:2.’3+1)£
or 4 . n=0,1,23 e, ()

For 7 < ie. ['<0

E

B 5 (-
The maximum value of | ' is T [1 1q)which occurs at the zmin locations and the minimum value

E .
of | 1| is & [1 * 1") which occurs at zmax locations as given by the equations (o) and (q).

£l

From our discussions so far we observe that | Lm can be written as

|y _ 1+
5= =
B, 11T
The quantity S is called as the standing wave ratio.
As & <1 the range of S is given by 125 =

We can write the expression for the magnetic field in medium 1 as

Hi= &y E—” g A (1 - reﬁﬁ'x)
M
. |H 1| . . . |El| A
From above equation we can see that will be maximum at locations where is minimum and
vice versa.

In medium 2, the transmitted wave propagates in the + z direction.
Oblique Incidence of EM wave at an interface

So far we have discuss the case of normal incidence where electromagnetic wave traveling in a lossless
medium impinges normally at the interface of a second medium. In this section we shall consider the case
of oblique incidence. As before, we consider two cases

When the second medium is a perfect conductor.
When the second medium is a perfect dielectric.

A plane incidence is defined as the plane containing the vector indicating the direction of propagation of
the incident wave and normal to the interface. We study two specific cases when the incident electric

field £ is perpendicular to the plane of incidence (perpendicular polarization) and Ei js parallel to the



plane of incidence (parallel polarization). For a general case, the incident wave may have arbitrary
polarization but the same can be expressed as a linear combination of these two individual cases.

Oblique Incidence at a plane conducting boundary

I. Perpendicular Polarization
The situation is depicted in figure 6.10.

4 X
,:;:j'f P Perfect Conducior
- “.._,.,-—-—._.____,_,-r"’f
as
H -H_,.r"'_._\_‘-‘—|_.—"r..!
(P
I'-;ai
Ei E< H, ——
O=0 O, = =

Figure 6.10: Perpendicular Polarization
As the EM field inside the perfect conductor is zero, the interface reflects the incident plane wave. @a

and @ respectively represent the unit vector in the direction of propagation of the incident and reflected

waves, g is the angle of incidence and & is the angle of reflection.

We find that
@ai = @z Cos 8 +ay sin &

Gur = —@z COsE, taxsin g,
Since the incident wave is considered to be perpendicular to the plane of incidence, which for the present
case happens to be xz plane, the electric field has only y-component.
Therefore,

B [x,z) = LEH,Q'J"%E"' T
_ &yE- E—j,ﬂl[xsmlﬁ'ﬁzcu:s%j
The corresponding magnetic field is given by

— 1~ =
Hilxz,z)=— Hilx,
[x z) " a, x [x z)]

- l [_ com alax + Sin azaz] Eﬁé_i-ﬁ[xmnﬁﬁzcnsﬂij
G

Similarly, we can write the reflected waves as



—

Er(xz)= &yEme_j’Elﬂ_" T

-~ — [ x3inid— 2c0ad,
=aH 2 SRy rsiny '

Since at the interface z=0, the tangential electric field is zero.
z E—j,ﬂlxsim?-i + 7 E—j,ﬂlxsinﬂ‘, -0
H *a
The above equation is satisfied if we have
E =-EK

o 2

and 8 =8,

The condition & =& is Snell's law of reflection.

' Erlix z:] = _ayE- E_Jﬁlimmﬂi—zmsqj

and Er I':x,z:l =l axrxﬁr[x,Z:l]

G
= E_ —.:;:,; cosd - a:x sin &, ] _J.’El(mn%_zms'%:'
#
The total electric field is given by
I (x,z)= E (x,z)+ B, (x.2)
= —a, 28, sin( fzcos 8, :l‘ss'_"i'."glmn'ﬁE

Similarly, total magnetic field is given by

5 _ E,:c, - —igxang | "L . - - B xsing,

Hi(zz)= 2—[axcosﬂicos[ﬁlzcosﬂ)é +azjsin & sin( fzcos 8 e ]

o)

From above two equations we observe that

1. Along z direction i.e. normal to the boundary

y component of B and x component of H maintain standing wave patterns according

o S 87 ang 505 AZ \yhere Fx = A 5958 No average power propagates along z as y

component of & and x component of /£ are out of phase.
2. Alongxi.e. parallel to the interface

y component of F and z component of H are in phase (both time and space) and propagate
with phase velocity

i ot

Vrin © ﬁlx ﬁsmﬂ
and A, = 2T _ Al
"8, sng

The wave propagating along the x direction has its amplitude varying with z and hence constitutes a non

uniformplane wave. Further, only electric field is perpendicular to the direction of propagation (i.e.
X), the magnetic field has component along the direction of propagation. Such waves are called transverse
electric or TE waves.



ii. Parallel Polarization:

In this case also @=i and @ are given by the derived equations. Here fHignd A+ have onlyy
component.

Jlx

£ Perfect Conductor
- ,.-d"'_'_"i—-_.-r"“f
o
£} .-"'""__—_‘———”'F’
& — z

oq1=0 &0y = @

Figure 6.11: Parallel Polarization
With reference to fig (6.11), the field components can be written as:

Incident field components:

E; (x.z)=E, [cos aéx —sin 5:-&5] e_"r.’gl[

xsin & +ecosd |

i (55) 3y B A
B, (r)

Reflected field components:

-~

- -~ —j 8 rsind, —zcoss,
By (xz)=E, [a!x cos 8, +azsin 5‘,]2 S8 xsiny ')

F, (n5) -3y B A
G|

Since the total tangential electric field component at the interface is zero.
£ [x,[]:l+ El[x,[]:l =
Which leads to &0 = 2w and & =& as before.

Substituting these gquantities in (r) and adding the incident and reflected electric and magnetic field
components the total electric and magnetic fields can be written as

Ei (x,z) =-2E, &x__f cos & sin [,ﬁz cos 5‘2) + g sin &8 cos [,312 cos 5'2)] g Arsme;
and  Hi [x,z) = &y 25, cos [ﬁz cos g )é'_j’ﬂlxsm&"
)

Once again, we find a standing wave pattern along z for the x and y components of & and 7, whilea

v=w1

Plx .
non uniform plane wave propagates along x with a phase velocity given by sin g




@

Vg =—

»l

where A Since, for this propagating wave, magnetic field is in transverse direction, such waves
are called transverse magnetic or TM waves.
Oblique incidence at a plane dielectric interface
We continue our discussion on the behavior of plane waves at an interface; this time we consider a plane
dielectric interface. As earlier, we consider the two specific cases, namely parallel and perpendicular

polarization.

i
X
Er Hr - -
Fr Hti
1]
R S, L] ~
i 2
=0
S Hi, Hi
Medium 1 Medmm 2
& 4G =0 | & py,0,=0

Fig 6.12: Oblique incidence at a plane dielectric interface
For the case of a plane dielectric interface, an incident wave will be reflected partially and transmitted
partially.

In Fig(6.12), 6.6 andé, corresponds respectively to the angle of incidence, reflection and transmission.
1. Parallel Polarization
As discussed previously, the incident and reflected field components can be written as

E; (x z [cosé'czx —s1n5a ] _Jﬁ[mmﬁsﬂmsij
) - B )
o

- -~ — 15[ xsind, —zcossd,
By (xz)=E, [czx cos &, +azsin 5‘,]2 JRrsiny 7)

—_— - XSII‘I. SC0S5
Hy [x,zj=—czy—”’ J#yfrsindy -zcosé |
|
In terms of the reflection coefficient I’
- xsm& — Zo0Ed,
I, (x.2)= [ax cos &, +axs1n5'] F By rsindy- ")

R (55) -3, Lo A0 e52)

|
The transmitted filed can be written in terms of the transmission coefficient T



E:(x.2) = T8, [ax cos 4, ~axsin 5,]e‘~”ﬁ2imnﬁ=+zmsﬁ:3
B (,2) = ay e g Sl
G
We can now enforce the continuity of tangential field components at the boundary i.e. z=0
Cos gz_é—,i"ﬁmn.% +cos g?g—,i",ﬂlmnﬂ« =T cog Ezé'_j’%mnﬂ

lé—j,ﬂlxsinﬁi _ Lé—jﬂlxsinﬂr _ E E—j,&gxsmﬂ;
" ) B (s)

and

If both £ and , are to be continuous at z=0 for all x , then form the phase matching we have
Gesing = Aand = &850 8
.".We find that
& =8
and foin§ =fGaind (t

Further, from equations (s) and (t) we have
cos& +lcosd =Tcos 8

1 I 7T
and ———=—
GG B
cos & (1+1) =Tcos 8,
and L(1-1) =L
o G
7=22(1-T)
)
cosﬂ-(l+r)=m—2[1—r)cosﬂ
G|

ColmcosE tacos8 ) =a, 0058 - ooz 8
1 i Mg ¥ p! y T M i

- L8, —mcos &

or Hycos 8, tacosd

#
and T=-—2(1-T
(1-1)

2#, Cos &

) My COR 8, +aycos & ()

From equation (u) we find that there exists specific angle §=6 for which I' = 0 such that
Moz, = cosd,

J1-sin’g =%.\/1—sin2 8,

or



san g, = —=san g,
Further,

For non magnetic material 1~ #2 =
Using this condition

. £ .
1-sin‘8 =2L{1-sin’ 8

. 5.
and sin® 8 = 8 ogin® 8,

T (V)

rom equation (v), solving for % & we get
1

sin &, =
£

1+ 2L

£3

This angle of incidence for which I" = 0 is called Brewster angle. Since we are dealing with parallel

polarization we represent this angle by G so that

. 1
s Qb" = —E
1+ L
£
2. Perpendicular Polarization
For this case
~J [ xsing; +ecos s )

B, (x.2)= ayE,
—i B xsind +zcosdy )

Hi(x,z)= 21 ~arcos 8 + &z sin 5!!]2
6!
B (n) - oor g

— [ xeind, —zcosdy)

— IE, r- -~
Hy(xz)=—"2 [ax cosd, +azsin 5".,] g
G
7, (x.2) = P TE, ¢ —J B[ xsings+zooss)
— TE. - - -7 NP+
Hi(xz)=—% [—czx cosd, tazan 5‘,] g Ja[rsindeszoosty)
2y
Using continuity of field components at z=0
p RSNG| o mJArsng TE, o B xenG

and —lcos ﬂeﬂﬁlmnﬂ + r cos grg—,i",ﬂlxsin&y __7 o %E—j'ﬁzxsinﬁ:
?31 ':lgl ?‘3'-2

As in the previous case
Gesing = Aand = &850 8



6-8,

and snd, = %sinﬂi

Using these conditions we can write

+I'=7
cosd,  [cosd Trosd,
— + = —
e k! i T (W)

From equation (w) the reflection and transmission coefficients for the perpendicular polarization can be
computed as

_ 058 —mcosf,

r

ol tacos

wd T = 2y cosd,

M

+
2::055':. ?3113055;

We observe that if I" =0 for an angle of incidence & =&
My COSE, = mcosd,

Ccost g = A o 8,
0!

Rl W &
HEy
" 1-sin? 6, =20 (1-4in%8,)
H &y
sin &, = ﬁsin &,
Again
Cosin® g, = A8 g2 &
HE
- 5 sin? e Lol ) sin? ,
&y HEy M5
sinjélb HE _ HyE | _ 1_»“2'5'1
or HaEy 5 H &y
sin? 8 .-‘5'{12 _P-’zg g = A8y ~ HyE)
or L E &y
Eq =
sinld = £ (4 2:4 szg 1)
OF coveeereiainenn, El(““l ..... “'r'{:*) ............................ (X)

We observe if #1 = #2 = Hu je. inthis case of non magnetic material Brewster angle does not exist as
the denominator or equation (x) becomes zero. Thus for perpendicular polarization in dielectric media,
there is Brewster angle so that dan be made equal to zero.

From our previous discussion we observe that for both polarizations



sin &, = %sinﬂi

. £ .
sing, = |Lein g,
£y

o

g== 8 = sin'l‘\/g
The incidence angle =& for which 2 je. i is called the critical angle of

incidence. If the angle of incidence is larger than & total internal reflection occurs. For such case an

evanescent wave exists along the interface in the x direction (w.r.t. fig (6.12)) that attenuates
exponentially in the normal i.e. z direction. Such waves are tightly bound to the interface and are called
surface waves.

If #17 H2 = Hy

cor 506 68

QUESTIONS:

1.Write down Maxwell’s field equations in the differential and integral form for time harmonic fields
2.Derive the expressions for energy stored in electric and magnetic field. Which field is efficient.

3.In a uniform plane wave, E and H are at right angles to each other. Prove.
lossy dielectric is characterized by [r=1.5, 1r=1 and 1/11=2.5x10*. At a frequency of 200MHz, how far
can a uniform plane wave propagate in the material before

(i) it undergoes an attenuation 1Np
(ii)its amplitude is halved

5. Deduce the integral form of the theoram of Poynting and state the significance of the three terms
appearing in the equation.

6.What are the properties of uniform plane wave?

7.Write Maxwell’s equation in integral form and interpret
8.Show that characteristic impedance of free space is 377o0hm
9.State and explain Poynting Vector(P) and Poynting theorem.

10.A brass(conductivity=10"mho/m) pipe with inner and outer diameter of 3.4 and 4 cm carries a total
current of 100A dc. Find Electric field (E), Magnetic field(H) and Poynting Vector(P) within the brass
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